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QUESTION 1

A cache replacement policy of "relaxed" can reduce performance over "strict" by: 

A. Increasing the housekeeper free write disk i/o 

B. Increasing the amount of rows logged in the transaction log 

C. Increasing the total disk read i/o by aging out frequently used pages 

D. Increasing the wash area of the 2K buffer pool\\'s MRU-LRU page chain 

E. Decreasing the use of large i/o buffer pools 

Correct Answer: C 

 

QUESTION 2

A DBA suspects a leaf-level index pointer does not point to the proper data pages.Which command can be used to
verify this? 

A. dbcc indexalloc 

B. dbcc tablealloc 

C. dbcc checkstorage 

D. dbcc checktable 

Correct Answer: D 

 

QUESTION 3

Which of the following are true about OAM pages?(Choose 2) 

A. Modifications to OAM pages hold an exclusive lock for the duration of the user transaction 

B. The first OAM page for an object may be found by selecting from sysgams 

C. The firsts OAM page for an object may be found by selecting from sysindexes. 

D. OAM pages are always the first page on an extent 

E. OAM pages are circularly linked 

Correct Answer: CE 

 

QUESTION 4
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Which of the following are allocation pages?(Choose 2) 

A. 10 

B. 25 

C. 255 

D. 512 

E. 1000 F. 1024 

Correct Answer: DE 

 

QUESTION 5

Which of the following commands will not perform a checkpoint on the database? 

A. dump database 

B. dump tran 

C. dump tran...with no_truncate 

D. dump tran... with truncate_only 

Correct Answer: C 
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